

www.3sgplus.com

8415 Pulsar Place | Suite 300 | Columbus, OH 43240

614.839.0250

OnBase Software Maintenance Renewal City of Columbus

Submitted by,

3SG Plus, LLC

November 4, 2019



3SG Plus | OnBase Maintenance Renewal

Vendor Contact Information

Company Name: 3SG Plus, LLC

Company Location: 8415 Pulsar Place | Suite 300 | Columbus, OH 43240

Company Point of Contact: Rebecca Johnson

Phone Number: 614.271.8083

Email Address: rjohnson@3sgplus.com

Table of Contents

Maintenance Pricing	3
Document Acceptance – OnBase Maintenance Renewal	2



Maintenance Pricing

Software Pricing – STS# 533272-3

Software Pricing	g – STS# 533272-3				
STS Module Code	STS Module Name	Qty	STS Unit Cost	Extended STS Price	Maintenance Price
CTMPC2	Concurrent Client (101-200)	1	\$967.25	\$967.25	\$193.45
CTMPN1	Named User Client (1-100)	15	\$564.23	\$8,463.45	\$1,692.69
CTMPN1	Named User Client (1-100)	2	\$564.23	\$1,128.46	\$225.69
DMMPI1	EDM Services	1	\$4,030.23	\$4,030.23	\$806.05
DPMPW1	Document Import Processor	1	\$4,030.23	\$4,030.23	\$806.05
DRMPI1	Document Retention	1	\$8,060.45	\$8,060.45	\$1,612.09
DSMPI1	Distributed Disk Services	1	\$4,030.23	\$4,030.23	\$806.05
EGMPI1	Integration for ESRI ArcGIS Server	1	\$8,060.45	\$8,060.45	\$1,612.09
IDMPI1	Full-Text Indexing - Autonomy IDOL	1	\$8,060.45	\$8,060.45	\$1,612.09
OBMPW1	Multi-User Server	1	\$6,448.36	\$6,448.36	\$1,289.67
OCMPW1	Batch OCR	1	\$1,209.07	\$1,209.07	\$241.81
OMMPI1-WINDO	Mobile Access for Windows	1	\$4,030.23	\$4,030.23	\$806.05
PDFMPI1	PDF Framework	1	\$2,418.14	\$2,418.14	\$483.63
PDFMPI1	PDF Framework	1	\$2,418.14	\$2,418.14	\$483.63
PLMPN1	Plan Review Named User	50	\$2,015.11	\$100,755.50	\$20,151.10
PRTMPI1	Plan Review Integration Toolkit	1	\$12,090.68	\$12,090.68	\$2,418.14
PWMPI1	Signature Pad Interface (TWAIN)	1	\$4,836.27	\$4,836.27	\$967.25
RHMPI1	Reporting Dashboards	1	\$8,060.45	\$8,060.45	\$1,612.09
RPMPI1	Report Services	1	\$4,030.23	\$4,030.23	\$806.05
TIMPW1	Production Document Imaging (TWN)	1	\$4,030.23	\$4,030.23	\$806.05
TIMPW2	Production Document Imaging (TWN)	1	\$2,418.14	\$2,418.14	\$483.63
UIMPI1	Unity Integration Toolkit	1	\$8,060.45	\$8,060.45	\$1,612.09
UNMPI1	Unity Client Server	1	\$8,060.45	\$8,060.45	\$1,612.09
WLMPC1	Workflow Concurrent Client SL (1-20)	20	\$1,773.30	\$35,466.00	\$7,093.20
WLMPC2	Workflow Concurrent Client SL (21-50)	15	\$1,450.88	\$21,763.20	\$4,352.64
WLMPC2	Workflow Concurrent Client SL (21-50)	1	\$1,450.88	\$1,450.88	\$290.18
WLMPN1	Workflow Named User Client SL (1-20)	13	\$1,128.46	\$14,669.98	\$2,934.00
WLMPN1	Workflow Named User Client SL (1-20)	1	\$1,128.46	\$1,128.46	\$225.69
WTMPI1	MS Office To Image Framework	1	\$2,418.14	\$2,418.14	\$483.63
WTMPI1-AS	MS Office To Image Framework (Aspose)	1	\$2,418.14	\$2,418.14	\$483.63
WTMPW1	Web Server	1	\$8,060.45	\$8,060.45	\$1,612.09
CTMPC2	Concurrent Client (101-200)	1	\$967.25	\$967.25	\$193.45
CTMPN1	Named User Client (1-100)	15	\$564.23	\$8,463.45	\$1,692.69
CTMPN1	Named User Client (1-100)	2	\$564.23	\$1,128.46	\$225.69
DMMPI1	EDM Services	1	\$4,030.23	\$4,030.23	\$806.05
				Maintenance Total	\$ 102,706.20



3SG Plus | OnBase Maintenance Renewal

Document Acceptance - OnBase Maintenance Renewal

Customer acknowledges that they have read and agree to the proposal as documented. Acceptance of this proposal is an agreement to pay the services as estimated and detailed above.

CUSTOMER APPROVAL		
Approver/Title	Signature	Date Signed